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The negative of 1 is — 1.

For rational numbersi ce we have 2>< £+E =i><£+§><E
b'd'f b \d f b d b f

£>_3

7

There are infinitely many rational numbers between any two
rational numbers.

The rational numbers % and %1 are on opposite sides of zero on
the number on line.

The negative of a negative rational number is always a positive
rational number.

Rational numbers can be added or multiplied in any order.

The reciprocal of - is =7
7 5
e 4 . 3
The multiplicative inverse of 3 is 2
The rational number 10.11 in the from £ s 1011
g 100
—+ lxz
5 8

The two rational numbers lying between -2 and -5 with

denominator as 1 are _T3 and ?

X . . .
If — is a rational number, then y is always a whole humber. False.

eg. 3 here denominator -4 is not a whole number.
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